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1. Poultry have a high rate of food passage.  What is the length of time for food passage for an egg-laying hen?

a. 1.5 hr

b. 2.5 hr
c. 4 hr

d. 6.5 hr

2. What is the average pulse rate of poultry while at rest (beats per minute)?

a. 90

b. 150

c. 240

d. 300

3. In broilers, the pectoral muscles weigh nearly as much as all the other muscles and account for _____ of the bird’s total weight.

a. 5-10%

b. 15-25%
c. 30-40%
d. 50%


4. ______ gives meat of the thigh and drumstick the characteristic dark color.

a. Myoglobin
b. Medullary
c. Sarorius
d. Glycogen

5. During a soft scald, poultry carcasses are immersed in ___ °F which minimizes the removal of the cuticle.

a. 110

b. 115

c. 125

d. 140

6. When evaluating broiler breeders for future meat production, which of the following should not be taken into consideration?

a. Deformities
b. Sexual Maturity
c. Breast meat quantity
   d. Body conformation

7. The __ is the responsible for the production of bile as well as the storage of glycogen.

a. Gall Bladder

b. Spleen

c. Cecum

d. Liver

8. Which of the following diseases is classified as a bacterial disease?

a. Cholera

b. Aspergillosis

c. Marek’s

d. Leukosis

9. During normal ovulation, the follicular membrane ruptures along the ____ to prevent hemorrhaging and blood spots in the egg.  

a. Ovum

b. Yolk

c. Ovary

d. Stigma
10. The skin of the fowl is made up of two layers.  The inner layer of the skin is termed what?

a. Pterylae

b. Epidermis 

c. Coverts

d. Dermis

11. Which hormone is responsible for causing ovulation of the most mature ovum from the follicle?

a. Follicle Stimulating Hormone

b. Prolactin


c.   Luteinizing Hormone


d. Oxytocin

12. Which of the following sections of the reproductive tract is responsible for the formation of the two shell membranes?

a. Infundibulum

b. Uterus
c. Magnum

d. Isthmus
13. _____ is necessary part of processing because it helps to clear feces from the lower part of the intestine, limiting the amount of fecal matter in the intestine.

a. Holding           b. Inspection
c. Evisceration 
d. Feed withdrawal
14. Broiler carcasses must be chilled below ___ degree F within 4 to 8 hours depending on the carcass weight.

a. 28

b. 34

c. 40

d. 48 

15. For labeling requirements, meat that has been held between 0 F and 26 F it can be labeled as  _____.

a. Hard Chilled 
b. Fresh

c. Frozen
d. Previously frozen

16. When evaluating past production hens, it takes approximately _____ weeks to bleach out the shank.

a. 5 to 8

b. 8 to 12
c. 12 to 20
d. 20 to 30

17. Which of the following factors is not an automatic cull factor for broiler breeder pullets?

a. Green shanks
b. wry neck  
c. crossed beak   
d. two black primary feathers
18. A broiler carcass with a broken leg bone and a broken wing bone is a USDA ___.

a. A

b. B

c. C

d. No Grade

19. An egg shell that has a hair line crack with shell membranes intact is what factor?

a. Check

b. Body Check

c. Thin Spot
    d. Dented Check

       20. What percentage of hatchability of settable eggs do broiler breeder operations strive meet?

a. 70%

b. 75%

c. 85%

d. 95%

21. Farmer Aggie placed 18,000 day old broiler in one of his broiler houses. At six weeks of age, the live haul                       crew collected 17, 285 broilers to transport to the processing plant.  What was the mortality rate of his flock?

a. 2.84%

b. 3.17%

c. 3.97%

d. 4.82%   

22. John David Crow, a hatchery manager, set a total of 185,000 eggs in his hatchery. Twenty-one days later 162,800 chicks hatched out and were sent to a broiler grow out facility.  What was the hatchability for these eggs?

a. 77%


b. 82%


c. 88%


d. 94%

23. A broiler processing facility processed a total of 285,485 chickens in one day of operation with an average live weight of 5.87 pounds per bird.  The average carcass weighed 4.23 pounds and yielded 1.08 lbs of breast meat.  What is the carcass dressing percentage fort this day of operation?

a. 68.57%

b. 72.06%

c. 78.92%

d. 81.23%

24. A large commercial egg facility has 255,000 laying hens on sight with a 90% production rate.  How many dozen eggs are produced at this facility each week?  
a. 14,562

b. 19,125

c. 98,297

d. 133,875
25. Farmer Aggie produced 11,547 turkeys for market with an average weight of 22 pounds per turkey.  During the growing period, these turkeys consumed 627,464 pounds of feed.  What is the feed conversion for this flock of turkeys?

a. 1.89


b. 2.24


c. 2.47


d. 3.09

